f2.1
Sl‘gls #{ “/ ,ll ‘S\(H" 1'0/ 2'3‘/ ?/(3?’/\-‘34 %/({;
61, 65 (G ;

% mwz«ﬂ /1:9&9/5 ap{ﬁcé s Ky A’L’:
) 37T

MJ*M?"é hen s onale b, 4]

s s N

@ x*ox+2S =0
=\ )

(%) ™ Cox it
(%) Gx - = ne &
(% (xer 1Y) umr) T = 0 =0,

mw =2
L{" )4:—“" Vh'.:?/
XZ(Q)(-PI\V(‘?X\.\ -0 -2
m =
ks 15-22 Vad wacd paodec

@ (x- Cre ) ( x- (e-v’—i\\
=x"= (1-\a\x — (H—\FL) % 4+ (:-s‘(’“—z.,\ (1..\[32’,\

= N xHE X =X \T X+ 1=

f

————

= &){L—Qx — /

Goe (3 3) (=3 400)

_(3-\1 + (34\(3}&3 ‘
2o\ xZ2x + 10 /

i

= X= (3+\ K
. 2

—




iy
¥ 33 #%s 23,31 3T¥3 40 ¥R 6l LSS 69

#*S 13 -Y2 Pxd o PJ%@%.J WWZ/L /(.QJ
.24 p‘a@‘z:'ﬁ«f‘? Had  has J’ﬁv j’m /toavés_

(2) 2 1 PO) = (k3 (xo\:(iii/

() 003 §-S)(x-RY(x-(-0BY)
= (x'— Cﬁ\(x@-aﬁ\ = 5‘("1'4'(@\7’3
- [ 3 J (a-bi) (a+hi)= 6

@ \/1_—’-3:
A
()(,\3(\4- (1—32\\(x*('2-4'?°))
- (1) (3 (3% + (2-30) (2+30)
G- ) (5w £ 3%

- /X"\(*’L’ Yy + ‘?\

\\




Pt

€ 3 3% 4
' 3 [ L 17 /.4 2
43, Je¥F ol 5,67

> T3Sz A
4 &ﬂgca,nl/ zéé/
4o dlscuss The P“’gg"%»‘ﬂlﬂes‘ ’; fv A ‘S/;B/W;

Op —eQC/L 2 "M
5 . Do Nor Sewve THRE EaN.

0 P@?//M /;(907/'5
D-%1 = o e e R ] =&
qm‘fjﬂj(‘v{ /00%/ o /M}]O{fi(\/'f G Q‘meﬁ@{,}_
@ ?(XB= 'NL/'S/-X -—)Q-L?:O
{ pasfvzwwf /'66‘["
P('%.): ’¥4’S-x14'x N
| g e o0
" D mm\/\mﬁ ./106?“/3.
| 2 =
Pe- YT
4< /,
0 &S/'A\V/ A&& ) i
r o o & - /MM
pPl-y) = ; pot S
9) = 9 7 4 A



2 Sa34s R

s ("/ -74 u <o /2@ f;vmj 2.0405‘ 77;@?1@.#/@
ﬁﬂf( @\iesj Q»@ ) f ?,i_ S du-\c_/ W N
Bownds s ards i fod 5 al) ~so?s

A 4
o 3 £ 4L b /3 A,

@ Wt n-Fyx +10 =0

e C O P&Si-‘i‘w

")_ ,‘{\*1—__?,)(-‘—‘0

Pe-A1= -
L g a Five 2219 -
a, = | e, i“,tZ/tg:t‘O
aD:(O % >(’—'—§—
S s S
- -\
e S W Y x-2)
. -2
{ ! N 4.» w '""() x:@s,-—ﬂ'*
T was [ust chocle & o
- b ol [ N“"‘U %AL L
am FPAE I L e e =
was U@W 4_0 3 bacAle ¢ - .
Q(c«c\acf CF Z /;W‘l‘ | :
. o
¥ X ;1 LL=2 "e{’?"l'gﬂ
¥ X +Gz,\ = 2 X ¥ ,\/
N 4 i
(+3)7 S
ey =7 -



>
X+ 2x 2 PxP 0y g =0

vy —F¥e2x—8§ = PC’X)

= A4L1j7 Sve Mj"\ AW /zagvé

P . ey £t ¥ EE
é

§ .

’ + v L@ Fos
o X e i (o 1+  Fos Pos
__\ﬂ ‘ L —F . -8 B 1/ /
RV 8 - ¢ 8 =¥ 3 a pool )
\ s { -2 O (x#—\(\ (yg—’lwlﬂvx-—’ﬂ



2) 35 #6¢

=
'\@ Pox)= vT4+2x = T iy &M =20
L on D, @ag/le\r/ /t-oav(s4

Prx) = xfomaxh+fw +Y
Fon O MoG 4 e

[}
1\ 1 " —~ g |
- : 3 o j; (y-ﬂ(xz—gx?:_q}
//‘ ' . > :“H; 0 Vi
— | A
I Lf g( O NI é %
(SC—\ )z(Xq'f"t/x.pqx
p I
= (xii\ﬁ(wl\
= \ 'l’z 7 /
5( C g Ve [y Mpﬂ‘f“jﬁ?‘gj Q_ MCL’
I B /“’90 : s t
i “ﬂ oY +
> 25 cause
5 gL“Huo/ 6@%«(‘-@ P Y Al

14 " 'l very b7y
/m#f%oj ”@asSr%’ we e/ 7 J



